
Mean, Median, Mode, and Range 2 
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1 23 boys and 22 girls take a maths test. 

The mean mark for the boys was 44.

The mean mark for the girls was 42. 

Find the mean mark for all 45 students. 

Give your answer to 1 decimal place.

[3 marks]

Answer

2 James has a number of 6 kg sacks of carrots.

James also has number of 16 kg sacks of carrots

The mean weight of the sacks of carrots is 12 kg.

What is the smallest number of 6 kg and 16 kg sacks James could have.

You must show your working. 

[3 marks]

Answer

Turn over ►

6
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3 Christopher has seven rabbits in his garden.

Their weight in kilograms is listed below.

1.1, 1.9, 1.5, 1.3, 2.0, 1.3, 1.7

3(a) What is the mean, mode, and median, for the weight of the rabbits?

[3 marks]

Mean =

Mode =

Median =

3(b) Calculate the range for the weight of the rabbits.

[1 mark]

Answer

3(c) Two of the rabbits are placed into their hutch.

The mean weight of the remaining five rabbits is now 1.6 kg.

Give the weight of the two rabbits that were placed in the hutch.

[3 marks]

Answer

Turn over for next question

Turn over ►

7
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4 Sarah earns £8.43 per hour.

She thinks that most of her friends are paid more.

She creates a list of how much her friends earn per hour.

Is Sarah correct?

Calculate the mean, median, and mode for this data set to support your answer.

[4 marks]

Answer

Turn over ►

4

Jenny £8.40

Helen £8.48

Peter £8.29

Simon £8.55

Jane £8.48

Amy £8.44
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5 Jane is investigating how long it takes people to complete a jigsaw.

She records their times below.

14, 17, 27, 11, 19, 14, 18, 13, 22, 25

5(a) What is the modal time?

[1 mark]

Answer

5(b) What is the median time?

[1 mark]

Answer

5(c) Calculate the mean and range for this data set.

[2 marks]

Mean = 

Range = 

Turn over for next question

Turn over ►

4
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6 A school is investigating how much their students use social media.

They gave their results, measured in minutes, in the table below.

Work out the difference in the mean time spent on Facebook and Twitter.

[3 marks]

Answer

Turn over ►

3

Student Facebook Twitter

A 62 37

B 112 130

C 172 205

D 26 98

E 91 10
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7 The height of 13 students are listed below. 

141 cm, 130 cm, 135 cm, 144 cm, 130 cm, 152 cm, 145 cm,

140 cm, 153 cm, 160 cm, 180 cm, 120 cm, 134 cm

7(a) Find the range of the students heights

[1 mark]

Range =

7(b) Find the median of the students heights 

[1 mark]

Median =

7(c) Find the mode of the students heights 

[1 mark]

Mode =

7(d) Find the mean of the students heights, giving your answer to 3 significant figures. 

[2 marks]

Mean =

End of Questions

END

5
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